Practical exercise

1 A recent study of single mothers who were members of the Flower Club and who had children under 8 years of age, produced the following findings:

	Child’s Age
	Number of children of that age in the group

	1
	12

	2
	65

	3
	31

	4
	28

	5
	17

	6
	12

	7
	8

	8
	4



The following tasks are to be accomplished:

a
construct a bar graph; and

b
construct a histogram. 

HINT: You cannot use the computer, unless the data has already been entered! To do this, you have to set the figures in one column containing the children according to their age. This means that this column will contain 12 times the number 1, 65 times the number 2, 31 times the number 3 etc. When all data is in the column (under a well-defined variable), you proceed with the next step (see Social Research text for details). 
2
In a methodology class of 68 students the final grades were distributed as follows: 14 per cent of the students obtained a high distinction, 18 per cent a distinction, 27 per cent a credit, 36 a pass and 5 per cent a fail. Display these figures in a pie graph. 

3
The first year enrolment in a psychology class is 425 students, of which 31 are foreign students and the remaining local students. Compute the local/foreign students’ ratio and the percentage of foreign students in this class.

4
In the psychology class above, 230 students are female. What is the ratio of female to male students? What are the percentages of male students and female students?

5
The individual test marks in the end of session examination of Sociology 1 were as follows: 


56, 34, 78, 98, 75, 86, 81, 67, 73, 69, 65, 86, 91, 58, 95, 78, 55, 84, 54, 73, 58, 77, 94, 66, 69, 63, 86, 72, 74, 83, 59, 88, 62, 82, 66, 46, 87, 49, 95, 48, 67, 48, 97, 49, 63, 56, 90, 68. 


Compute the mean and explain its meaning within the distribution. 

6
In the following data sets, compute the mean, mode and the median:


Set A:  7, 5, 8, 9, 6, 7, 5, 3, 6, 4, 6, 8, 9, 7, 2, 5, 6, 7, 3, 6. 


Set B:  18, 21, 6, 22, 26, 23, 5, 4, 28, 5, 5, 20, 21, 27, 5. 


Which of these three measures offers more information about the groups?

7
For the two data sets above compute the variance, standard deviation and the range. Compare these measures. What do the results tell you about the usefulness of these measures?

8
During the previous semester, 15 students completed Introductory Psychology and Introductory Sociology. Their results (out of 10) were as follows:


Psychology:  4, 6, 8, 7, 9, 4, 6, 5, 7, 6, 6, 7, 6, 5, 6. 


Sociology:    6, 8, 7, 9, 8, 7, 8, 6, 7, 4, 5, 3, 4, 7, 6. 


Compute the mean, range, standard deviation, and z-scores for both data sets. What do the findings tell you about the performance of these students? Do these students perform better in one of the study areas than in the other?

9
In a recent study, 1500 males and females of the same age group (in equal numbers) were asked to state their educational status by indicating whether they had attended 
tertiary institutions or not. The results are given in the following table: 

Completed Tertiary Studies

	
	Yes
	No
	Total

	Males
	612
	220
	832

	Females
	138
	530
	668

	Total
	750
	750
	1500


Use Phi () to estimate the relationship between tertiary studies and gender. 

10
In a survey of spouses, husbands and wives ranked the five political parties presented to them as follows:
	Parties
	Husband’s Ranking
	Wife’s Ranking

	Liberal
	1
	2

	Labour
	5
	4

	National
	2
	1

	Country
	3
	3

	Democrats
	4
	5


Compute Spearman’s rho to estimate the relationship between the variables in question (try manually first).

11
Students of group C of the History class were asked to state how many hours they studied the day before the last test. Their responses were collated with the test scores (1 to 10), both of which are given below:


Student: A  B  C  D   E  F  G  H  I  J  K  L  M  N  O


Hours:
 4   6   8  9   5  2   5  9  6  7  6   4   7   6   9


Score:
 6   8   6  5   6  4   7  4  4  8  5   6   9   4   7


QUESTION: Is there a correlation between hours of study and test performance? More specifically, can you argue that the more students studied before the examination, the better they performed in the test? 


Use Pearson’s correlation coefficient to test this hypothesis. 

HINT: ‡ Firstly, enter the data in the computer, setting them in two columns, one for study time (hours), and one for scores. 

‡ Then, construct a scattergram to obtain a visual presentation of the relationship between these two variables. SPSS will do it for you!

Examine the scattergram; what does it tell you about the relationship between hours of study and test result? Is there a relationship? If so, is it strong/weak, positive/negative?


‡ Now compute Pearson’s r to explore the relationship between the variables in question and to see whether the conclusion drawn on the basis of this computation is consistent with the indication given by the scattergram. Use SPSS to obtain the results.


‡ What conclusion can you draw from the findings?


‡ How consistent is the correlation coefficient with the shape of the scattergram?

12
Among other things, a study of marital power explored two issues: the degree to which spouses accepted the power system of their marriage and the degree of marital satisfaction. The question here was about whether high acceptance of the power system of marriage was associated with high marital satisfaction. The answers of the first 10 respondents to these two questions are given below. Scores range from 1 (low) to 9 (high):


Spouse:
A
B
C
D
E
F
G
H
I
J


Acceptance:
7
8
5
7
4
6
8
3
7
6

Satisfaction:
8
9
4
6
5
7
7
2
8
6


‡ Construct a scattergram. What can be concluded on the basis of its structure?


‡ Compute Pearson’s r. What can be concluded about the relationship between acceptance of marital power and marital satisfaction?


‡ How consistent are the findings of the scattergram and Pearson’s correlation coefficient?

13
Of the 38 students who were admitted to the Bachelor of Arts this year, 15 decided to major in psychology, 11 in History, and 12 in sociology. Are these differences in choice statistically significant?

HINTS:


To answer this question, employ the goodness-of-fit chi square test. To compute the chi square value, and to estimate its level of significance, employ SPSS. 


First of all, enter the data in the computer. Use 1 for those choosing psychology as a major, 2 for those choosing history and 3 for those choosing sociology; enter 15 times the digit 1, 11 times the digit 2, and 12 times the digit 3, all in one column. 


Having set the data in the computer, you follow the steps presented in the text. 

THINK:
What is the level of significance? What can you conclude from that? What is the null hypothesis (Ho)? Can you reject the null hypothesis?

14
A study of same-sex and other-sex couples revealed that the degree of commitment (high, low) to their relationship is as follows:


Couples
High degree
Low degree
Total


Same-sex
65
42
107


Other-sex
57
50
107


Total
122
92
224                  

On the basis of these figures, what can be concluded about the level of commitment of these two groups of couples? Are the differences in commitment between these two groups significant?

15
In the above example, compute the coefficient and Cramer’s V. What can you conclude from these findings?

16
In a recent study, 25 farm wives were interviewed to determine the level of satisfaction they had with their marriage. Rated between, 1 (very low) and 9 (very high), their responses were as follows: 4.5, 5.3, 6.1, 6.3, 5.8, 8.3, 7.8, 5.6, 8.1, 6.8, 6.4, 6.1, 6.3, 5.9, 5.6, 4.4, 6.6, 7.4, 6.6, 5.7, 5.5, 7.3, 6.7, 7.4, 6.3. Knowing that the average marital satisfaction score among city wives is 6.2, what can you conclude from this study?

HINT: Use a one-sample t-test here. Remember to set the scores in one column. You may name the variable ‘Satisf’ (for satisfaction).
Remember that you are comparing means here. What is the Ho? What is the t-value? Can you reject Ho? What can you say about the level of satisfaction of farm wives?

17
The same 25 farm wives referred to above were interviewed together with 25 city wives. The purpose of the interview was to ascertain the amount of time (hours) spent by wives with their family per day. The results of the questioning are given below:


City wives:
3, 2, 3, 3, 4, 3, 2, 1, 2, 1, 2, 5, 6, 5, 4, 7, 6, 4, 5, 6, 3, 5, 4, 3, 5 


Farm wives:
4, 3, 4, 4, 5, 4, 3, 2, 3, 2, 3, 6, 7, 6, 5, 7, 7, 5, 6, 7, 4, 6, 5, 4, 7 


Is the difference between the responses of the two groups significant? 

18
Three groups of students (N = 20 each), one from a large city, one from a small town and one from a remote area were tested to determine their overall scholastic achievement. The students were matched according to social and family background. The scores of the three groups are shown below. 


Scores by types of respondents


	City
	Town 
	Remote

	5
	6
	6

	6
	7
	8

	7
	8
	6

	5
	6
	9

	6
	7
	5

	4
	5
	6

	5
	7
	3

	4
	9
	5

	6
	8
	4

	5
	7
	6

	7
	8
	3

	6
	6
	4

	5
	7
	2

	6
	8
	4

	4
	7
	3

	7
	9
	5

	5
	6
	4

	6
	7
	6

	5
	5
	5

	4
	6
	8


Are the differences between the scores of the three groups of students significant? Can you say that students’ results vary according to their place of residence? 

HINT: 
ANOVA will help you answer these questions. 

Here you compare means and you set a null hypothesis (Ho). 

The results of the ANOVA will tell you whether you accept or reject the Ho. 

The variables are ‘Scores’ (dependent variable) and ‘Resid’ (independent variable or factor). The residence is numbered 1 (city students), 2 (town students) and 3 (remote students). You then set each student’s score in one column, followed by the student’s residence in the second column.

The steps to take from here are those given in the text.

What is the F-ratio? What is the significance level? What can you say about the research question? Can you reject the null hypothesis?

